PEHTNNY

T

=
-
*
=
[.4
*

it

BwE5-LBH5E

ERTUT7 AR REREE

(B{sZ: ¢ Sv/h)
Al 18 7 AER | g6 R7.7.1
HWZALFYY 15 0.050 0.043
2|F L LoFE 0.052 0.050
3|T5vR—IL T 0.063 0.050
4|BAIER 0.052 0.046
5|E/%% 0.068 0.051
6| FvITBH SR 0.055 0.033
IBEEDLE Higa 0.046 0.034
8|BEA 0.052 0.035
9|7Zvoik—IL AN 0.066 0.048
10| DR, FOHDR Hifm 0.059 0.054
11|Fv T Clthm 0.047 0.044
12|RDER DEHi=Y 0.051 0.042
13|5LDR 2EHT=Y 0.065 0.045
14|HE VD LG 0.046 0.049
15|56 —E X35 GEENRE) 0.050 0.044
16| B Nis 0.051 0.048
17|[E5HAD K 0.052 0.041
18| 3hdHpL\DEE .0.055 0.049
19|FF M IR ERIZ 0.063 0.042
20|BEEIS g 0.054 0.043

=/IME 0.046 0.033

=KIE 0.068 0.054

Xith EMS50emDESTHRIE
{EFA#25 : HORIBA Radi(S
T4)
MAIEBEFRORELELE:.




